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Tommy thinks that this chocolate bar is 3 cm long.
Is he correct?

Convince me.
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Tommy thinks that this chocolate bar is 10 cm long.
Is he correct?

Convince me.
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Tommy thinks that this chocolate bar is 5 cm long.
Is he correct?

Convince me.
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Three children measured the same toy car.

Eva says that the car is 6 cm and 5 mm
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Dexter says the car is 5 cm
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Annie says the car is 4 cm 5 mm
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Who is
correct?

Who is
incorrect?

Explain
why.
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Three children measured the same toy car.

Eva says that the car is 6 cm
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Dexter says the car is 7 cm
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Annie says the car is 5 cm 5 mm
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Explain
why.




